History 113

The Industrial Revolution Review

I. Fill in the Blanks (15)

1. The Industrial Revolution started in the country of ________ in the year ____.

2. The first major invention of the textile-making revolution was the ________.  It was invented by __________.

3. James Watt’s new and improved __________ completely changed transportation.

4. The manufacturing of very large quantities of goods is called ________.

5. _______ was used to heat homes and cook food.

6. ______________ invented the _______, which generated an electric current by using magnets.

7. The invention of the ___________ allowed people to communicate across the ocean.

8.Robert Fulton invented the first successful  _____________ .

9. In order to make sure the workers had good working conditions, they formed ___________. 

10.A _______ is an organization of workers.

11. Great Britain was the leader in the _________ industry.

12. Many countries _______, or bring in, cloth from other countries.
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I. Multiple Choice – circle the correct. (10)
1.Industrialized countries depended on other nations for ___.

a. Finished products

b. incomes

c. labour unions

d. raw materials

2. Britain was called the workshop of the world because ___

a. there was little unemployment

b. unions were forbidden

c. it had a great lead over other countries

d. the demand for its products was high

3. The US and Great Britain relied on ___ for crude oil 

a. Canada

b. Saudi Arabia

c. France

d. Germany

4. In what year did unions become legal? ___

a. 1817

b. 1785
c. 1825
d. 1971

5. Most people in Britain in the 18th century were ___

a. miners

b. farmers

c. factory workers

d. car makers

6. Edward Cartwright’s invention, the _______ helped the weavers keep up with the spinners.

a. Steam-powered loom

b. Spinning jenny

c. Steam engine

d. Dynamo

7. Because of the _______, many countries laid hundreds pf miles of railroad track.

a. Diesel engine

b. Dynamo

c. Spinning jenny

d. Steam locomotive

8. The ________, invented in 1764, could spin as many as 80 threads at one time.

a. Water frame

b. Spinning jenny

c. Steam-powered loom

d. Mule

9. The United States and Great Britain relied on countries like Saudi Arabia and Nigeria for ________.

a. Kerosene

b. Crude oil

c. Petroleum

d. Raw materials

10. Great Britain was a leader in the _______ industry.

a. Oil

b. Gas

c. Coal

d. Textile

II. Give a definition to the following terms (5) – On the answer sheet

1. Imperialism – 

2. Natural Resources –

3. Raw Materials –

4. Developing countries (give example) –

5. Developed countries (give example) –

